Questions to Lecture 3 – National Income and Consumption 

1. How do you define Gross Domestic Product?
Gross Domestic Product (GDP): The total market value of all final goods and services produced within a nation’s borders in a given time period.
2. How do you define Gross National Product?
Gross National Product (GNP): The output produced by nationally-owned factors of production.
3. Explain why we use GDP per capita rather than aggregate GDP for international comparison.
For example, China and the Czech Republic, obviously Chinese GDP would be much bigger than Czech Republic GDP, it is also measure how many people are there.  So if you want compare GDP, you have to compare GDP per capita.
4. How do you account for increase and decrease in inventories in the GDP accounting?
  There are two different situations.  If you produce and put it into inventory, that is increase the GDP.  If the next year you are going to sell them out of inventory, there is no change in GDP. 
5. What types of output are not included in GDP?
The resale of used goods not included in GDP.  For example, if you sale a car to somebody, you are not producing a new car, just transfer of ownership.
Also you can mention home production, or underground economy

6. Give an example of durable goods.
Car; refrigerator; furniture.
7. Is the purchase of a stock on the stock exchange counted in the GDP?
No, it isn’t.
· It would be good to write also why it isn’t.
8. What is the difference between nominal and real GDP? 
Nominal GDP is the value of final output measured in current prices, whereas real GDP is the value of output measured in constant prices
9. How do you define disposable personal income?
    Personal disposable = personal income-personal taxes. 

 Disposable income: after- tax income of households; personal income less personal taxes.  Personal income: income received by households before payment of personal taxes.
· Try to give one clear answer

10. How do you define net domestic product?
 NDP=GDP- depreciation.  This is the amount of output we could consume without reducing our stock of capital and therewith next year’s production possibilities.
11. What are the main limitations of GDP as a measure of quality of life?
 Black market, barter, volunteer production, home production, those are all not included. And easterlin paradox.
12. Explain Easterlin paradox.
   Happiness data when they argue about how happy you are. It is typically stationary over time despite considerable increases in income.
· To sum up: people with higher income do not feel happier => GDP might b not a perfect measure of quality of life
13. What were Keynes's three conjectures about the consumption function?
1. Marginal propensity to consume is between 0 and 1

2. Average propensity to consume fall as income rises

3. Key determinant of consumption is income, interest rate does not play important role.

  Formally:   C = (C + cY

14. Write down the formal notation of consumption function that satisfies all three Keynes's conjectures.
   Formally:   C = (C + cY

15. Explain differences among cross-section, time series and panel data (give an example of each).
 Cross section is data on different units at the same time. For example, in 1998(one year), you are looking at house1, house 2 and house 3. it could be different number of people or some other form.
Time series data: follow the same object for period time.  For example, GDP for capital over 20 years or consumption over 20 years, 30years…
Panel data is combination (in cross section data and time series).  

15.Describe empirical evidence that was consistent with Keynes's conjectures.
The evidence that was consistent with Keynes’s conjectures came from studies of household data and short time-series. There were two observations from household data. 

First, households with higher income consumed more and saved more, implying that the marginal propensity to consume is between zero and one. Second, higher-income households saved a larger fraction of their income than lower-income households,implying that the average propensity to consume falls with income. 

There were three additional observations from short time-series. First, in years when aggregate income was low, both consumption and saving were low, implying that the marginal propensity to consume is between zero and one. Second, in years with low income, the ratio of consumption to income was high, implying that the average propensity to consume falls as income rises. Third, the correlation between income and consumption seemed so strong that no variables other than income seemed important in explaining consumption. 
16. Describe empirical evidence that was inconsistent with Keynes's conjectures.

The first piece of evidence against Keynes’s three conjectures came from the failure of “secular stagnation” to occur after World War II. Based on the Keynesian consumption function, some economists expected that as income increased over time, the saving rate would also increase;they feared that there might not be enough profitable investment projects to absorb this saving,and the economy might enter a long depression of indefinite duration. This did not happen. 

The second piece of evidence against Keynes’s conjectures came from studies of long time-series of consumption and income. Simon Kuznets found that the ratio of consumption to income was stable from decade to decade; that is, the average propensity to consume did not seem to be falling over time as income increased. 

17. How would you define intratemporal and intertemporal budget constraint?

Intertemporal budget constraint, which measures the total resources available for consumption today and in the future. But, intratemporal budget constraint measures the total resources available for consumption within a specific period.

18. What is the effect of change in income within the framework of Fisher model?
An increase in either Y1or Y2shifts the budget constraint outward,as in Figure 16-6.The higher budget constraint allows the consumer to choose a better combination of ﬁrst and second-period consumption—that is,the consumer can now reach a higher indifference curve. 

In Figure 16-6,the consumer responds to the shift in his budget constraint by choosing more consumption in both periods.Although it is not implied by the logic of the model alone, this situation is the most usual. If a consumer wants more of a good when his or her income rises,economists call it a normal good. The indifference curves in Figure 16-6 are drawn under the assumption that consumption in period one and consumption in period two are both normal goods. 
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The key conclusion from Figure 16-6 is that regardless of whether the increase in income occurs in the ﬁrst period or the second period,the consumer spreads it over consumption in both periods. This behavior is sometimes called consumption smoothing. Because the consumer can borrow and lend between periods, the timing of the income is irrelevant to how much is consumed today (except,of course,that future income is discounted by the interest rate).
19. What is the effect of change in interest rate within the framework of Fisher model (case of borrower)?

If Tom is a borrower, when the interest rate increases, he consumes less today, while his consumption tomorrow can either rise or fall. He faces both a substitution effect and income effect. Because consumption today is more expensive, he substitutes out of it. Also, since all his income is in the second period, the higher interest rate raises his cost of borrowing and, thus, lowers his income. Assuming consumption in period one is a normal good, this provides an additional incentive for lowering it. His new consumption choice is at point B. When the interest rate falls, all of these are opposite.
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20. What is the effect of change in interest rate within the framework of Fisher model (case of lender )?

When the interest rate increase, the rise in interest rates leads Jack to consume less today and more tomorrow.This is because of the substitution effect: it costs him more to consume today than tomorrow, because of the higher opportunity cost in terms of forgone interest.When the interest rate falls,all of these are opposite. + how does 
If person is a net lender, with increasing interest rate the value of his savings increases as well – positive income effect. On the other hand, consumption today becomes more expensive than consumption tomorrow. That means that he will for sure increase his consumption tomorrow. We cannot tell what will be the effect on the first period’s consumption, as this will be the outcome of interaction of substitution and income effect.
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21. Explain income effect.
The income effect is the change in consumption that results from the movement to a higher indifference curve. If consumption in period one and consumption in period two are both normal goods, the consumer will want to spread this improvement in his welfare over both periods. This income effect tends to make the consumer want more consumption in both periods. 

22. Explain substitution effect.
The substitution effect is the change in consumption that results from the change in the relative price of consumption in the two periods. In particular, consumption in period two becomes less expensive relative to consumption in period one when the interest rate rises. That is, because the real interest rate earned on saving is higher, the consumer must now give up less ﬁrst-period consumption to obtain an extra unit of second-period consumption. This substitution effect tends to make the consumer choose more consumption in period two and less consumption in period one. 
23. How does life-cycle model explain contradictory evidence concerning consumption behavior?

Both the life-cycle and permanent-income hypotheses emphasize that an individual’s time horizon is longer than a single year. Thus, consumption is not simply a function of current income. 

The life-cycle hypothesis stresses that income varies over a person’s life; saving allows consumers to move income from those times in life when income is high to those times when it is low. The life-cycle hypothesis predicts that consumption should depend on both wealth and income, since these determine a person’s lifetime resources. Hence, we expect the consumption function to look like C = αW + βY. 

In the short run, with wealth fixed, we get a “conventional” Keynesian consumption function. In the long run, wealth increases, so the short-run consumption function shifts upward
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The permanent-income hypothesis also implies that people try to smooth consumption, though its emphasis is slightly different. Rather than focusing on the pattern of income over a lifetime, the permanent-income hypothesis emphasizes that people experience random and temporary changes in their income from year to year. The permanent income hypothesis views current income as the sum of permanent income Y^p and transitory income Y^t. Milton Friedman hypothesized that consumption should depend primarily on permanent income: C = αY^p. 

The permanent-income hypothesis explains the consumption puzzle by suggesting that the standard Keynesian consumption function uses the wrong variable for income.For example, if a household has high transitory income, it will not have higher consumption; hence, if much of the variability in income is transitory, a researcher would find that high-income households had, on average, a lower average propensity to consume.This is also true in short time-series if much of the year-to-year variation in income is transitory. In long time-series, however, variations in income are largely permanent; therefore, consumers do not save any increases in income, but consume them instead. 

· Choose the relevant information (
24. Explain difference between permanent and transitory income. Which one determines the level of consumption and why?

Permanent income is fixed for a long time,but transitory is unexpected such as income from the stocks. For example, if you do your job well and get your salary higher, then your permanent income was increased every week. While you get profit from the stock today, this income is transitory, because you cannot assure you can make this for every week.

According to the permanent-income hypothesis. Friedman reasoned that consumption should depend primarily on permanent income,because consumers use saving and borrowing to smooth consumption in response to transitory changes in income.For example,if a person received a permanent raise of $10,000 per year, his consumption would rise by about as much.Yet if a person won $10,000 in a lottery, he would not consume it all in one year. Instead, he would spread the extra consumption over the rest of  his life.Assuming an interest rate of zero and a remaining life span of 50 years, consumption would rise by only $200 per year in response to the $10,000 prize.Thus,consumers spend their permanent income,but they save rather than spend most of their transitory income. 

Friedman concluded that we should view the consumption function as approximately  C= aY^P ,where a is a constant that measures the fraction of permanent income consumed.The permanent-income hypothesis,as expressed by this equation,states that consumption is proportional to permanent income. 
25. How does permanent-income model explain contradictory evidence concerning consumption behavior?

The permanent-income hypothesis solves the consumption puzzle by suggesting that the standard Keynesian consumption function uses the wrong variable.According to the permanent-income hypothesis,consumption depends on permanent income; yet many studies of the consumption function try to relate consumption to current income. Friedman argued that this errors-in-variables problemexplains the seemingly contradictory ﬁndings.

Let’s see what Friedman’s hypothesis implies for the average propensity to consume.Divide both sides of his consumption function by Y to obtain 

                       APC=C/Y= aY ^P /Y. 

According to the permanent-income hypothesis, the average propensity to consume depends on the ratio of permanent income to current income.When current income temporarily rises above permanent income,the average propensity to consume temporarily falls; when current income temporarily falls below permanent income,the average propensity to consume temporarily rises. 

Now consider the studies of household data. Friedman reasoned that these data reﬂect a combination of permanent and transitory income.Households with high permanent income have proportionately higher consumption.If all variation in current income came from the permanent component, the average propensity to consume would be the same in all households. But some of the variation in income comes from the transitory component,and households with high transitory income do not have higher consumption.Therefore,researchers ﬁnd that high-income households have,on average,lower average propensities to consume. 

Similarly, consider the studies of time-series data. Friedman reasoned that year-to-year fluctuations in income are dominated by transitory income. Therefore,years of high income should be years of low average propensities to consume. But over long periods of time—say, from decade to decade—the variation in income comes from the permanent component. Hence, in long time-series,one should observe a constant average propensity to consume,as in fact Kuznets found. 
26. Why are changes in consumption unpredictable if consumers act according to permanent income hypothesis and have rational expectations?

The permanent-income hypothesis implies that consumers try to smooth consumption over time, so that current consumption is based on current expectations about lifetime income. It follows that changes in consumption reflect “surprises” about lifetime income. If consumers have rational expectations, then these surprises are unpredictable. Hence, consumption changes are also unpredictable. 
27. Give an example in which somebody exhibits time-inconsistent preferences (other than on the lecture).
For example, a person may legitimately want to lose weight, but decide to eat a large dinner today and eat a small dinner tomorrow and thereafter. But the next day, they may once again make the same choice—eating a large dinner that day while promising to eat less on following days. 
28. Summarize determinants of the current level of consumption.

Determinants of the current level of consumption: Disposable income (Yd), the expected future income, life-cycle section, abstinence of consume, the interest rate (i), but the most important determinant is Income.

Current income, expected future income, wealth, interest rates, borrowing constraints, psychology

Quote:  www.lipj.com.cn
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